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ok i« FH—ME = BN

0kl112 HR 1} P

1. TR S S B AR
2% ABLEE B USRS A B aBib, m, n BIER .
(1) ABLBAIRERE AB=|a-b]| .

mb +na
m+n

(2) =EPELEAB F, HAP : BP=m : n, H|PZLAFEE
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2 ok il H—HE—5 WK

(&5 1]
B EWRE A-3), B(7) .
(1) RABHYE .
(2) 3k ABHyHEEALEE

(3) B4IP(X)BEE AB L, B AP : BP=3:2, Rx.

(4) BEXIQ(y)B R ABSM—BE, HAQ : BQ=3:5, Ry .
Ans: (1) 10> (2) 2 (3) 3 (4) -18

[ Zf% ]
(1) AB=|(=3)—7l=1-10l=10.
0 /ﬁe@qnaﬁé*%;%@:z.
(3) P()ELETE AB |, fRiE43BEA S

X_3x7+2x@8)_1§_

3.
3+2 5
(4) Q(y)E: kB ABSN—BE, (KEEFEWNT, & 5
. O~ 4 T~B
AQ : AB=3:2. e
_3xT7+2xy

RESTEAX, 5 -3=—F7,
3+2

B-15=21+2y, L y=-18.

[Egk 1)
B4 FWEE A2), B(S), BAIB4G E—BP(x), AP : BP=3:2, Rx.

Ans : ?EZ 11

[E5/% ]
D C
o p(x)EE{E AB -, HI x= X2+ 2x2_ 1%
3+2 5
_Ixx+2x2

i=| i
, =% x=11 .
1+2

5 P(x)BE{E ABSN, HIAB : BP=1:2, 5
ﬁﬁcx:%g‘z 11 .
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ok i« FH—ME = BN

[&p] 2]

FarbHEE, Ha<b, TH{TEERE?

(1) a<a—+b<b’ (2) a<a+2b<2a+b<b’
2 3 3

3) a<2P_p, (4) a< R _2a+3
3 5 5 ’

Ans : (1)(4)

(5% ]

a+b.

(1) IEHE . Tl%a’bﬁijﬁ.

2a+b a+2b a-b
— — <

2) BEER . 0.
(2) $& 0 ard 2
(3) $53 . Wa=1, b=2= a%b:l:a
@ w2 2 Dy o b
EFEB(1)A) .
[ 4k 2]
% a<b, B TYISBEIA/N:
I:,:aer’ Q:a+3b’ R:3a+b’ S:5a+3b'
2 4 4 8

Ans : R<S<P<Q

[E5/% ]

I:)_a+b_4a+4b Q_a+3b_2a+6b R_3a+b_6a+2b
2 8 4 8 4 g8

I a<b, ﬁﬁu6a;—2b<5a;r3b<4a;—4b<2a;6b,

#HR<S<P<Q.
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2.

ok i« FH—ME = BN

K S

HRER B ARV Ry x, FRAPMILL| x | ZeRon A BLEUREAY EEEE

X

J R ABEEE B YA YR B akib, HIAB=|a-b]| .

s k Ry IEE L .

(1) | x|=kex==k .
(2) | x|<k<e-k<x<k .

(3) | x|2ke x>k x<—k .
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ok i« FH—ME = BN

[&f 3]
BT &
(1) |x|:g » (2) x+%‘=g ’ (3) x+% sg ’ (4)] 2x+1|>5 .

Ans @ (1) ig v (2) 2 8-3 5 (38) -3=x=2> (4) x>2 5 x<-3

(%]

5 5_. 5
(1) |X|:§:>X:§§Z—E .

1] 5 .
2) [ X+= == X+-=F—=>X=2E(-3 .
(2) 2‘ > > 9
(3) x+1 s§:>—§sx+ls§:>—3sm2.
2| 2 2 2 2

(4) | 2x+1|>5=2x+1>53 2x+1<-5=>x>23 x<-3 .

[HE&k 3]
BT H&R:
(1) [3x-1|=5 (2) |-x+2|<4> (3) 2x+% zg.
. 4 . 1. 5
Ans @ (1) —5&2 0 (2) —2<x<6 () x= EEZ xé—g
[EFfE]
(1) |3x—1|:5:>3x—1:4_r5:>x:—%ﬁ\22.
(2) |-Xx+2|<4=|x-2|<4=>-4<x-2<4=-2<Xx<6 .
1(_4 1_4_. 1 4 1 . 5
3 2X+= 2= =2 2X+=2—B(2X+=-<——= = X2 —B( X< —— .
3) 3] 3 3 3jz 3 3 ij 6
(&5 4]
T &AFER:

| x-2|<6
(1) x>3 v (2) 2<|-x+1|<5 .
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ANSs

ok i« FH—ME = BN

(1) 4<x<-38(3<x<8 > (2) 4<x<-18;3<x<6

(%]

(D

(2)

[Eek 4]

| x-2|<6=>-6<x-2<6=-4<x<8,

| x|>3=x>38 x<-3,

B LA EAXAVEE S x (VR EHE ,
M —4<x<-383<x<8 .

KB | -x+1]|>2, Frbl—x+1>23 -x+1<-2,
R x< =18 x>3 .
KB | —x+1|<5, ATbl-5<—x +1 <5,

R —4<x<6 .
Hox B ILEFHE A 4<x<-18;3<x<6 .

ETIIEAEA:

(1)

ANs

| 2x-1]<5
» (2) 5<|2x-3]<9.

| x+1|>2

(1) 1<x<3:(2) -3<x<-184<x<6

(5% ]

(1

(2)

| 2x-1]<5 = -5<2x-1<5 = —4<2x<6=>-2<Xx<3,

| x+1]22 = x+1225 x+1<-2 = x215 x<-3,

LA F AR S x YL E HE
1<x<3 .
9
<=,
2

5<| 2x-3|<9 = Es x—§
2 2

x%ﬁﬁiﬁgmﬁ%ﬁm&%mg,ﬁmmgmﬁﬁﬁ,

M —3<x<-15k 4<x<6 .
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ok i« FH—ME = BN

(&5 5]
2a b BEE, BFRER| ax-1|<biyfERE -1<x<7, Ka biyHE .

Ans : a:1 v b= 4

3 3
(EFfE ]
RlRy-1<x<7, H-18171yF 8% 3, Frll-4<x-3<4,
¢t|x—3|s4:‘1x—1 4

3 3
1 4

fra==,b=—".
% 3 3

[H&k 5]
®a b AEH, AFREK|ax-1|<biyfER 2<x<12, FRa, bHY{HE .

Ans:a— > . p—!
5 5

(GERD
RE—2<x<12, H-2 B 12 (Jh %k 5, ATl -7<x-5<7,
Jﬁt|x—5|£7:‘%x—l I

1 7
Hra==,b==.
% 5 5

[ &%l 6]
WasbBEE, AFRER|ax+5|>6 BB x<-1 x>6, X a- b HyHE .
Ans : a=-2>b=7

st ]
Pk X< x>6, H-1586 MRz,

5 7
F’KEL/L X——<——YX—E>E

x—E >g = | 2x=5|>7=|-2x+5|>7 .

itk >

Ha=-2 b=7.
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8 ok il H—HE—5 WK

[ 54k 6]
Ba bhEY, BEXRSEK|ax+3| bR x<-15 x=7, K a > bIH .
Ans:a=-1>b=4

[ )
K x<-1sx27, H-1817 iz 3,
FrLl x—3<-48¢ x-3>4,

| x=3]24 = | -x+3|24 .

Ha=-1b=4 .

[=H] 7]
R 2x+ 1]+ [x—3]=5.
Ans : 1 8-1

(s8]
6| 241 | =0 | x—3 | ~OHIE x =~ 1 x = SHLT{EBAR I
5 BT AT

(1) éﬁx<—%ﬁ%%, 2x+1< 0, x-3<0,

FHEH B —(2x+1)—(x-3)=5,

(2) éé?—%£x<3ﬂz—}, 2x+1>0, x-3<0,

(3) & x=3HF, 2x+1>0, x-320,

iR (2x+1)+(x—-3)=5,

%@h%($é>,&%ﬁﬁmﬁ%.

FaR)GF: x=15-1.
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ok i« FH—ME = BN

(5% 7]
AR 2 x+1]—|x+2]=3.
Ans : 3 5(-3
[ )

B x+1|=0 K| x+2 |=0/fi#t x=—-1 fl x=-2 ERIEE L I,

TrEGETERA T
(1) & x<-20§, x+1<0, x+2<0,

FRER B 2(x+)+(x+2)= 3, @15 x=-3.
Q) & -2<x<-1#%, x+1<0, x+2>0,

FHER R -2(x+1)—(x+2) =&,

B x=— (F&) . WU PR
(3) ‘& x>-18F, x+1=0, x+2=>0,

AR 2(x+)—(x+2)= &, f#fFx=3.

FEMQOTF: x=38-3.

(&) 8]
AR |x—1]+ |x+3]<5.
Ans : —ZSXSE
2 2
[&Ffz ]

et | x—1|=0k | x+3|=0f# x=1 fl x=-3 FERIEHE LR L,

IN& T R Em A
(1) & x<-30F, x-1<0H x+3<0,

Ty (1) +(x-3) <5,

@xz-l, -l ex < 3BT HREE
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ok %% F—ME—= B
(2) & -3<x<1f¥, x-1<0H x+3>0,
RNEH B (—x+1)+x+3< 5,

X BEEEH, 1 -3<x<1hFEANR
Xx>10%, x-1>0H x+3>0,
= ﬁ)%x—1+x+3£5

& x sg H1sx<s ﬁ%fmmﬁ

3)

%{ mu} 4@

=4 4 . S = 7 3
Fad3), 1§ xB’J@E%—Eﬁxsa .

[H%k 8]

ERER[x+2| +2|x—4]=15.
Ans : —3<x<7

(%]
| x+2 |=0 % | x—4|=089fF x=-2 fl x=4 BERIEHE L,

Sy R Em A H
(1) & x<-28F, x+2<0, x-4<0,

RNEHR B —(x+2)-2(x—4)<15,

i1 x>-3, #{-3<x<-2.
Q) & -2<x<4Wif, x+2>0, x-4<0,

RSt X 2-2(x-4) <15,

fRE x>-5, t-2<x<4.
(3) Ex=4WF, x+2>0, x-4>0,

RNEHX B x+2+2(x— 4 < 15,

1S x<7, W 4<x<7 .
GE)QO)E: —83<x<T7 .

[&5] 9]

#arb HER, A8BHla+tbl<lal+]bl.
(GCUED
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ok % F—ME— WEA
k| a+b |[fl|a|+| b|& ZIFEEE, AT RFELZH

la+b [ <(|al|+ b|) BN .
e AR TS I
| a+b |2 :(a+b)2 =a’+2ab+b?,

(al|+ b |)2:| al’+2|a| b|+|b[ =a%+2|ab|+b?,

X B abs<| ab|, Frilla+b[<(lal+/b]),

#|a+b|<|al+|b] .

(=4 9]
#%abREY, AZHla-bl<lal+[b].
(GELED

i e A R Y P 05 53 Bl g B

| a—b |2 :(a—b)2 =a’—2ab+b?,
(| al+|b |)2=| a |2+2| allbl+|b |2=a2+2| ab |+b?,

Y B -ab<| ab|, Fibl|a-b[<(la|+b]),

i|a-b|<|al|+|b]| .
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12 ok % F—WH—= B

okll2ex

e

1. #%a b RAEHE, Ha<b, AITFFIH—EEZK?

(1) a+b @) a+2b . (3) 2a+b () 3a+2b
> .

3 3 5
Ans . 1 (2)

G|

1. b= L2l
Ma=1-b=3=(12"(2) 3 (B) 3 @) @) F8&K

atb a+2b 3a+3b-2a-4b a-b <

1 0>
) 2 3 6 6
ﬁia+b< a+2b .
2 3
3) 2a+b a+2b _2a+b-a-2b_ a-b <0
3 3 3 3
% 2a+b< a+2b )
3 3
@) 3a+2b a+2b 9a+6b—5a—10b:4(a—b) <0
5 3 15 15
éﬁ3a+2b < a+2b .
5 3

2. BB LERRA(-2), B(13), BHBMEL—RP(x),

HAP :BP=3:2, ¥x.
Ans @ 7 5 43

(55 ]
(H[ﬁﬁ%&:x—z+u3+nxg7,

(2) 4M43EE = x=13+ (13 +2)x2=43 -
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ok sEFE F—ME—T B 13

xR IERE, WE|2x—3|<10 2 @It 4% H?
Ans . 6
(a]

7 13
| 2x-3|<10 = -10<2x—3<10 = -7<2x<13 = LAY

2
—=x=1>2"34>556-°

f(x) = [2:x-3]-10
xa = 3.17
|2:x2-3]-10 = -6.66

t ——— f t & t t t t —=—t t f t
-10 5 A 5 10

B xRER, EFEEERE| x-3]<2, | x-1|<3Z xHEE T DL
BR| x—a|<b, K#H (@ b) .

Ang : (5,3j
2 2

(5¢/#% ]

| x-3]<2 =>-2£ x—3=2=1=x=5....(1)"

| x-1|<3 = -3=x—1=3=-2=x=4....(2)
p— /E{ 5 3

F(1) (2B FEfR S 1=x=4= |x—§|§5 ,

Hla== b=

N | o
N w

a bREER, #&|2x—a|<bWfER -1<x<9, REH (ab) .
Ans : (8> 10)

(%]

~1<x<9 = |x—4|<5=|2x—8|<10> =>a=8:>b=10-
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14 ok i« FH—ME = BN

6. Xa bMREH, &|ax+4|[>bWERx<-2Hx>6, Ka+b .

Ans : 6

[ 55fi7 ]

X<—2EX>6 = [x—2|>4=|2x—4| >8= |-2x+4]| >8
=>a=-2>b=8=a+b=6-

B

| x-3]<5

| -x+1|>2 ’

7. ﬁﬁ*%:‘:ﬁ{

Ans @ —2<x=-1H;3=x<8

[&FfE]

Ix—3| <5

= -5<{x—3<5=-2<x<8.....(1) »
|—x+1|=2

= [x—1[=2

S>x—1=Z2H x—1=-2=x=3 T x=-1....(2)
H(1)(2)F 2<x=-153=x<8-°

8. MEXREN|2x-2|<|3-x].

Ansg : -1<x<

w | o

[&Ffz ]

|2x—2| = |x—3] » Sy EEETsha T

(1) x=23=>2%x—2=x—3=x=-1"F&-
(2) 1<x<3=>2x—2=3—x

o

w| o

:>3x£5:>x£% = 1 <x=
B) x=1l=22—"2%x=3—3x=2x=2-1l=>-1=x=1-°

o

H()Q)G)E-1=x= g
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ok i« FH—ME = BN 15

f(x) = [2:x-2{x-3
xa = -0.89
|2-%a-2]-xa-3| = -0.11

} t t t } t t t t } —% t } t } t t t t }
-0 5 \M 5 10
21

9. R xBEH, H|x-1|+ x-2|=5, Hlx= .

Ans : -1 4

(5FE )

Ix—1]+[x—2[=5 FEHMOT

(1) x=22=x—1+tx—2=5=>%x=4"-

Q) 1<x<2=x—14+2—x=5=1=50CF8) -
B x=1l=>1—x+2—x=5=>x=-1-
HBx=-12x=5"

fx) = (X-1]+x-2|)-5 A (-1.00, 0.00)
T B:(4.00, 000)

10. fBHRER 2| x+1|+| x-2|-x=8 .
Ans : -2 @ 4

(EE31

(1) x22=22x+ D)+ E—2)—x=8=>2x=8=>x=4-°

(2) -1<x<2=22x+D+Q—x)—x=8=4=8> FJF -
Q) x=-1=2>-2+FD+TQL—x)—x=8§=>4x=-8=>x=-2-
B8 x=—2 8 4 -
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11.

ok i« FH—ME = BN

f(x) ¥ (2-x+1

;

2

—

x-2|)-x-8

" A: (4.00, 0.00)
+ B: (-2.00, 0.00)

T
5)

SR EENERSR [ 4x— 12| <2x (EE x B RNER
HEERTIIH—EEE ? (bc103)
(1)1:(2)2°(3)3>(4)4>(5) 6«

Ans : (4)

(%A% ]

X=3 = 4x— 12<2x = 2x<12 = x<6 = 3<x<6
X<3 = 12— 4x<2x = 6x212 = x=22 = 2<x <3
 EHUBE B2 15 2<x<6 >

ERER 4.

[ 55 ]

| ax—12 | <2x

= (2x—6)%<x?

= 3x?>—24x+36<0

= x?—8x+12<0

= (x—2)(x—6)<0

= 2<x<6

HEER6—2=4.

24

ﬁ(;o = |4-xdi12]-2.x
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